01. 240/- 02. 15
06. 2.30. 07. 6a%b>
11. ACB=CBD 12. PR,PS
16. _._._> 17. 450

0 4
21. X+Y =4 22. -163°

01(M).7 - (2
12

a 1 - (-2
4

1) 1 - (e-2)
6
(IV) 108 - (e-2)

(V) 486 - (c-2)

02 () . 1409 - (c-6)
(e0) (I) o 7200 - (c-2)
(Il) 67 74400 - (c-2)

05 (I) . @03 Srwed ¢=Be(C-H
dI) egor 8% - (-2)
(III) ®omewrs’ Bedno 8GO -
(IV) n(AnB') - (c-2)

| OO® GLBILB) DRI ’
‘ @¢dx D10 gr®l8® - 2020

(=)

E&Tr vy

03. log 22 = 5 04. 2 05. 30°
Ox

08. 09. (x-4) (x+4) 10. 36

13. 65° 14. m=4 15.4.1

18. X2Y?2 19. %= 110 20.0P=0Q
y= 35 OX =0X

23.t=V-U 24 eeafnos®  28. plA
a

03().44 - (c-2)
(IT) 868 - (=-3)
(1I1)252 -(c-3)

(IV) 30240 - (e-2)

04 (&) . 840000 - (=-4)

(g0) (I) 18- (@-2)
(II) 20 - (e-2)
(III) 33- (=-2)

(G-2)

01- ' 10 e oo



.

(@) x=0

(I) eedmadics
(I @c

2) (I 15 x 360 =120
45

8X7 =56
8 X 10 =80

XS5 =40
8X8 =64

DO gedmIT

(3) (@) (I) 350 x 120

100

S1. 394.00

(b) 54 X 100
18000

3%

1-8* x°

4) (8)

(1-8x) (1+8x)

(#0) Xx+2y=65 -1

2X +2y =110 - 2

1L.X 2

2X + 4y =130
y =20

X + 40 =65 (grod®cs)

X = 65-40
X = 25

Do 20
2X%+ 5x - 720

BeE 25

N

2X (x+ 7) -1(2X + 7)20

> 1

X=-L x=1
2 2

(@¢2900)

-02-

odms - Il (88m01 snw)

(S) 8ygben 63020 gerg ©88 em0es

CRE DIBID.

6) () 6x2+x -15 > 2
(D) (x + 3)?= x2+ 6x+9 > 2
(II1) (100 - 2)2 = 9604 > 3
(IV) 83920 avc cead® > 2

(1@ D 60-20 =40 =5 % 3

10-2 8
(II) 100 - 40 = 60 =15 > 9
16-12 4
(III) 60 = 60 3ms" > 1
(er2) 144 x 1000
60 x 60
= 40 .1
= 100 + 60 > ]
=160 =4 S o1
40

(8)(I) AB =6
(1) A8 aowm 60° > 2
(III) AC =7.5 a@® > 2

Cerey 88®
Sewmiens g1€®
(IV) DAC es®@dedemcs > 2

(V) C®d» AB O es®isimd ebaed epzc?;@} 3

9) () PQ = PR
POR = QRP
(IDYQR = QRX
PQR = QRP (0823)
YOR = PRX (ess@e0e oc omiesc)
POR + YQP = QRP + PRX

YOR = QRX

(III)YQR QRX

QR = QR
YQR = QﬂX (e3033&3)

> 2

YQR4A=QRXA (e39.@294.2%)

10 egd s odmas




\
IV) QX 7 1 (IV) SRX = RPQ (Smz$ed emies)

(V) odn ¢=58@ N ) PQ=QR (QRP =QPR)
e PQ =RS (PQRSe&®ismdiegss)
R =SR
(10) (@) (I) 2* =8 Q
log 2° = 3 > 2 : QRS ©8¢8 vy Serderss —> -
(I) log 16 x 25 \ (V) QRX » SAX Sewmies Oc
4 Lk QR =RS
= log 100 5 3 ORX = SRX
= > 1 - RX (ewg e0ew) > 3
i - QRX& SRXAEDS.@@CY.@D)
(g0) 1g 58.7 +1g 3.75 - 1g 29.27 QXR = S%R e QXR + SXR = 180°
1.7686 + 0.5740 - 1.4664 | QXR =90
2.3426 - 1.4664 QX b PR
0.8762
antilog 0.8762
7.52 > 5

(1) )

| 1
| e
——7B
24
g S ol
1) 4 > 1
(I1I) e3®R 25302983 > 5
(IV) 24 % 5
(V) 24 x100 =40 5
60 7 2
(12) (I) ozeses > ;

(II) PX=XR (¢sfm)
A
SPX'= XﬁQ (S220530 eien)
PXS = QXR (5888 emien) > 2
PSX = XQR (T30 eien)

PSX/\= QXR /\ (e24.0m4.65)

N/

) PS QR (¢e5ow)
PS = QR (g:03® Sewien O ¢mdies goo)
PQRS e3®153m00e38 > 1 :\L
l ;
> 1

PX = XR
SX = XQ (PQRS e3®153m0eR)




